21

25

-06 -



24

H24
5/20,7/29,9/9,12/2,1/13,2/17
6 1
6
86
6 1
1
414 610
T 92
98 111
1211 114
117 317
25 3 31
4
...135 2,370 ... 117,000
24 10
1
5
19

-97 -




24 695

4 3
10 n
63 24
24
50 37 13
24 6 17
24 7 7 8
24 8 1 9
24 8 22

-08-

25



24 10 1

NPO
HOOK NPO
NPO
]
NPO
NPO
B NPO TDK

-99-




24

1 4 21 30|
2l 5 22 5 57
3] 5 23 23
4 5 29 72
5 6 1 53
6] 6 15 123]
71 6 21 120
8 6 21 5 185
9 6 26 68
10 6 28
if 7 3
12 7 11 66
3 7 17 210
14 7 18 = 300)
15( 7 18 25
16 7 25 = 83
17 7 25 56
18 7 29 40
90 8 1 39
200 8 2 40
21 8 6 36
2] 8 7 173]
23] 8 8 14
241 8 8 70|
25 8 9 70|
26 8 9 30|
271 8 10 20
28| 8 10 32
29 8 17 16
30 8 17 29
31 8 18 18
32| 8 20 38
33 8 20 40
34 8 21 50)
35| 8 21 30|
36| 8 22 23
371 8 22 21
38 8 23 40
39| 8 23 78
4 9 4 60
41 9 6 = 47
42 9 6 87
431 9 10 82
9 21 50)
451 9 27 89

-100 -



46| 10 3 30)
47 10 5 53]
48110 10 81
49(10 11 140
50110 15 30
5111015 41
521019 132
5311025 37|
5411025 25
55110 27 18]
56|10 29 55]
5711031 15)
58| 11 3 72
5911115 20
6011117 7
611120 57|
621125 30)
6312 18 51
641221 69)
65 1 29 20
66| 2 14 67|
67 3 17 42]

4,023

23

-101-




24

29

5 2
1) 5 2
2 5 8
3) ki 10 20
1) 4 1 6 @
2) 7r 92
3) 9/10 1021

5 @

71 9

99

10 20

A1

5 2

5 2

5 8
A) 6 &
B) 6 8
C) 7T
A 72
B) 91
C) 9 9
A) 10 13
B) 10 27

10 27

-102 -




24

H24.5.8/5.9/5.11 11
H2 &.17 24

H2 46.31 18

H2 &.24 55

H2 4.2 67127 5
H2 8.25 28
H24.10.10 16
H2 4 a9 6
H2 4 16 56

H2 4 19 18

H2 4 5 31
GIS H2 §.11 15
H2 5.2 31:25 21
H2 2.15 32

H2 2.28 31

H2 38.15 28
38

H2 46.29 8

8
H24.6.2 68.8 11
H24.7.9 18
H24.7.26/ 7.27 6
H24.8.21/8.22 7
H24.8.28/ 8.29 7
H24.9.4 .19/ 20 7
H24.10.4/1 (1 ©10.12 7
H24.10.16-10.18 7
H24.10.30-11.1/11.6/1 I7 18
H24.11.26/ 11.27 7
95

H24.7.23 17

H24.7.25 24

41

-103 -




